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=) UPCOMING ONLINE BATCHES

05 OCT 2022

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

05 OCT 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

& www.mahendras.org

October 2022

12 OCT 2022 19 OCT 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL

19 OCT 2022

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

26 OCT 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

N 7052477777/7052577777












Q:-1. A man went from home to office at a speed of
40km/h and came back with speed of 60km/h. Find his
average speed during the whole journey ?

3aT:- Ush F{<h I I H AT 40 Fordi/eer Fit 310 9
STTAT g 3T 60 fFH/=eT it ATer & AT Sl rar g ar o

qTAT o ST It A d I 4T AT ?
(a) 32 km/h
(b) 36 km/h
(c) 48 km/h
(d) 24 km/h
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Q:-2. Ram travels 80 km at the speed 40 km/h and
next 60 km at 30 km/h and 180 km at the speed of
180 km/h. Find his average speed?

3aT:- T 80 frHT &t =T 40 FeRei/eieT & 9T o 9T Ldl
g 3T 60 T T I 30 Feret/=er it 9T § 9T FLaT &

T 3T a1 180 fFHT & Im=T 180 Frfi/ger Ft AT &
TT AT g STeh! ST ATA AT hiford?

(a) 60 km/h

(b) 45 km/h

(c) 48 km/h

(d) 64 km/h
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TT AT g STeh! ST ATA AT hiford?

(a) 60 km/h

(b) 45 km/h

(c) 48 km/h




" CGL/CHSL/CPO -2022-23
Q:-3. An express rain travelled at an average speed
of 100km/h, stopping for 3 minutes after every 75km.
How long it take to reach its destination 600 km from
the starting point?

3aT:- - U U9 2 100 FoReT / sar &t freq a9 I
FLAT &, TAF 75 6T F 918 3 e & e Tt 2

gTiHes fog & 600 FrdT T g 0 Tgad | a1 903
AT 872

(@) 6 hr

(b) 6 hr 10 min

(c) 6 hr 24 min

(d) 6 hr 21 min
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Q:-4. A and B start at the same time with speed of 40
km/hr. and 50 km/hr. respectively. If in covering the
journey A takes 15 miuntes longer than B, the total
distance of the journey is:

A TIT B T [RIq T19 9 TH 5t 90T FHLA: 40 74T 50
ToRdt/eeT T AT |/ AT TTEET X &l A 0 aF Fd |

B & 15 f<e &7 90T SATT QT &1 T L AT hi 91T
(a)40 km
(b)48 km
()50 km
(d)52 km
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Q:-5. Walking at 60% of his usual speed, a man
reaches his desti nation 1 hour 40 minutes late. His
usual time (in hours) to reach the destination is:

AT FTHTT T % 60% Ta § I §T Teh 1< T

AT T 9T 1 5T 40 T < | Ig9ar g1 TasT I+
Tga &l SHHT IHT THT (FT H) &

(a) 3 hr 30 min

(b) 2 hr 30 min

(c) 1 hr 50 min

(d) 2 hr 15 min
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Q:-6. A boy increases his speed to 9/5 times of his
original speed. By this he reaches his school 30
minutes before the usual time. How much time does
he takes usually?

Ush ASHT AAAT I T AT HoA T & 9/5 AT TF T2

AT 81 T9Y 98 1T THYT ¥ 30 e ags 9= That
Ted SITdT gl 98 AHAT I Foha«T F01T a1 872

(@) 67.75 min

(b) 67.50 min

(c) 67.25 min

(d) 67.10 min




Q:-6. A boy increases his speed to 9/5 times of his
original speed. By this he reaches his school 30
minutes before the usual time. How much time does
he takes usually?

Ush ASHT AAAT I T AT HoA T & 9/5 AT TF T2

AT 81 T9Y 98 1T THYT ¥ 30 e ags 9= That
qgd ST 8l 98 ATHAIE I Tha=T 907 AdT1 872
(@) 67 min

(c) 60 min
(d) 64 min




Q:-7. A takes 30 minutes more than B to cover a
distance of 15 km at a certain speed. But if A doubles
his speed, he takes one hour less than B to cover the
same distance. What is the speed (in km/h) of B?

A = fAfsra ifa & 15 fRdt s g aT FA H B 7 30
A TTaeF aT 81 AR Tt A STAAT T T IRAT < *dT

g, I 98 THTT o 1 9T Fd § B § U =l w9 «al ol B
1 Tia (FreT/eeT /) = 872

(a) 6

(b) 5

(c) 4

(d) 3




Q:-7. A takes 30 minutes more than B to cover a
distance of 15 km at a certain speed. But if A doubles
his speed, he takes one hour less than B to cover the
same distance. What is the speed (in km/h) of B?

A = fAfsra ifa & 15 fRdt s g aT FA H B 7 30
A TTaeF aT 81 AR Tt A STAAT T T IRAT < *dT

g, A1 98 THTH g &l I <4 § B § TS HaT ¥ AdT 5l B
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(b) 5
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Q:-8. Two bikers A and B start and ride at 75km/h and
60km/h respectively towards each other. They meet
after 20 minutes. How far were they from each other
when they started?

JQT:- I ATSHH A 3T B T AL T L v Lr: 75 foredt/

T 3T 60 FhdT / HeT &l Td ¥ LE ald ol 9 20 A+
1< TRed g1 YF a9 X 9 Teh g8 ¥ fha«t g2 A?
(a) 60 km

(b) 50 km

(c) 45 km

(d) 3km
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=T 3T 60 fFHT / =T it Tfa § = 3ld 2l 9 20 A *
1< TRed g1 YF a9 X 9 Teh g8 ¥ fha«t g2 A?
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0:-9. The'distance between two cities A znd B is
330km. A train starts from A at 8am and travels
towards B at 60km/h. Another train starts from B at
9am and travels towards A at 75km/h. At what time do
they meet?

3aT- A 9% B 2T o1zt ¥ ey it ot 330 Pt 21 T 3

g 8 ST | LF BIdl g 3T 60 FrdT / a1 9T B &t 3
STAT 81 Teh T S gag 9 9 ot § (¥ ardl & < 75 fFeh
[ ST 9T Tt A 1t gl 9 g aa77 fwra 82

(a) 10:00 am

(b) 10:30 am

(c) 11:00 am

(d) 11:30 am




330km. A train starts from A at 8am and travels
towards B at 60km/h. Another train starts from B at

9am and travels towards A at 75km/h. At what time do
they meet?

3aT- A 9% B 2T o1zt ¥ ey it ot 330 Pt 21 T 3

g 8 ST | LF BIdl g 3T 60 FrdT / a1 9T B &t 3
STAT 81 Teh T S gag 9 9 ot § (¥ ardl & < 75 fFeh
[ FET 9T T 6T 3T ATAT gl & Fover a0 Fera 82

(a) 10:00 am

(b) 10:30 am

(d) 11:30 am
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:-10. A train when moves at an average speed of

40km/h, reaches its destination. When its average

speed becomes 35km/h, then it reaches its destination

15 minute late. Find the length of journey.

SaT:- Ueh o St 40 TRt / =T &t ofrera Tt & 9«1l |, av

AT AT T Tgadl gl ST THeh! e o 35 FRHT / =raT

g STAT 8, AT I T+ Ta=T 9T 15 A< 0 9 ag=di ol
qTAT T FATS ST HISTT

(a) 50 km

(b) 30 km

(c) 70 km

(d) 60 km
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